-
2.045_—
Sk

.......................................................................

] ]
Ll
n + 8
3
0.025 — b
| e
1 8
] :A'
.0
_ Qﬁ
_ N
0.02 s
+,
g b
i o
]

Lgr
(X

0.6

0.5

0.4

I S S S S AR 0.015 :
0.01 gl b Tl LR ] :.._
C . ny
0.005F 4 e o 0.01, N
N - I I B B L i N et VoU S
£ 47 REHI |I[- 0.01 0.015 0.02 0.025 0.03
o [ | —=— DQM_original_originalvector_1000evt
1_4L _____________ 4 ..| —=— DQM_original_1000evt
Lk —— DQM_fitted4_1000evt
r — DQM_lfit_nocpe_loooevtl
L 1 LTI ]

0954501 0.015

0.02 0.025 0.03 0.035
Efficiency vs. cut on dz(PV)

0.3

0.2

0.1



	Contents
	Page 1


